WEREHFEEED Q0228 TE4) BERAL

1. EFERE
PomlU={01234}  4=AA={012} HAB={23}, mU(CLJAj UB= )
A. 9B {1234} c {234} p {01,234}

2. M
ZEX[A22] FEZBR A, FARSRC< ORI HBRN (O

1 1 1 1
A.6B.2C.3D. ¢

3. B
BAIE A ERM S HF R =T, 2= gas=
A.64B.32C.16D. 4

4. BB
&ﬁ&ﬁﬂ=mﬂ+mwG%@ﬁim)%m%igzﬁi%ﬁﬁﬁ%m,b@%ﬁﬁﬁ%%
Xﬁ#kﬂﬁﬁ,Eszﬁﬁﬁﬂ%ﬁﬁﬁ%%%,ﬂ%ﬁﬁ&ﬁﬂﬂ,3%7%5&&5

FHEHATF O
AF—RRB EF-ZR C. FE=RRDEHERR

5. G .
vy
XAtk 1=10,
& =
E4M. NERZERA Fy=6 B Rl E X B AW ANAR R A, WMV R R E R (
)
epd 17
AT Rz B2 D T
6. iEFE R .

EHIA AL bﬁﬁ&a}bb 0, Hab =1, m ()

A log 3 > log,3 B 3%+ 36 C. geb+l, gath D. a® > b°

7. BB -
—ANUARR =R E W E B, WU AR R N

T ;

S s
v/
> b 7+
4 L

A
b
- =i

L

2B 28
A8t T RB8+2B T 10



